
Логарифми.
Логарифмічна функція.

Логарифмічні рівняння та 
нерівності

















ЗНО 2020



ЗНО 2019, 2018



ЗНО 2017



ЗНО 2016



ЗНО2015

Log x = t
t1*t2 = -2
t1+t2 = -1   t =1    t = -2 
X= 5    X = 1/25 



ЗНО 2014



ЗНО 2013, 2012

Логарифм за основою а 
позначено в розв'язанні 
лише позначенням log
Log 500/4 = log 125
Log 5 = 4
3 log 5 = 3*4 = 12



ЗНО 2011,2010



ЗНО 2010, 2009



Х2 = (-6+10)/2 =2

-8  -6        0   2

-8; -7; 1; 2
Відповідь: 4



ЗНО 2008, 2007



ЗНО 2007



ЗНО 2007


